
kf6g gu/kflnsfsf ;'rgf 

kf6g gu/kflnsfsf] cfly{s P]g, @)&$-klxnf] ;+;f]wg_, @)&% 

kf6g gu/kflnsfsf] cfly{s P]g, @)&$ nfO{ ;+zf]wg ug{ jf~5gLo ePsf]n], :yfgLo ;/sf/ 

;~rfng P]g, @)&$sf] bkmf !)@ k|of]u u/L kf6g gu/kflnsfn] b]xfosflgodx? agfPsf] 5 . 

!= ;+lIfKtgfd / k|f/DeMo;sf] gfd kf6g gu/kflnsfsf] cfly{s P]g, @)&$-klxnf] ;+;f]wg_, 

@)&% /x]sf] 5 . 

@= kf6g gu/kflnsfsf] cfly{s P]g, @)&$, sf] cg';'rL @ df ;+zf]wgM 

 k'/fgf]  
;+zf]lwt 

dfnkf]t s/ 

s_ v]t / kfvf] cAank|lt /f]kgL 

 

? ( 

? !) 

v_ v]t / kfvf] bf]odk|lt /f]kgL ? & ? * 

u_ v]t / kfvf] ;Ldk|lt /f]kgL ? ^ ? & 

3_ v]t / kfvf] rfxf/ k|lt /f]kgL ? $ ? % 

Go"gtddfnkf]t ? @) dfq  

3/ s/-tnfut_ 

s_ 3/ ahf/ If]q 

 

%)) 

 

v_ 3/ /f]8 If]q @))  

u_ 3/ u|fdL0f If]q @%  

 

#=kf6g gu/kflnsfsf] cfly{s P]g, @)&$sf] cg';'rL $ df ;+zf]wgM 

ljj/)f btf{,k'/fgf] ;+;f]lwt gljs/)f ;+;f]lwt 

dlb/f k;n -20 k|ltzta&fpg]_ 
 

 
 

 

ljQ/s 10,500.00 12600 7,000.00 8400 

yf]slaqmLk;n 7,000.00 8400 3,000.00 3600 

v'b|flaqmLk;n 3,000.00 3600 2,000.00 2400 



 r'/f]^ ,la*L / ;'t{{LhGo -20 k|ltzta&fpg]_  

ljQ/s 3,000.00 3600 2,000.00 2400 

yf]slaqmLk;n 2,000.00 2400 1,500.00 1800 

v'bf| laqmLk;n 1,000.00 1200 800.00 960 
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